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Fill in your Roll No., Name, Father’s Name, Name of the Forest Circle and Answers in the Answer Sheet with
blue/black pen only.
The Question Booklet contains questions in English and Hindi.

In all there are 80 questions in the paper. Each question has 4 responses i.e. A, B, C, D and of these only one
is correct. You are to find out the correct answer e.g., if answer to the Q. No. 30 is A then enter A in the box
as: 30 All questions are compulsory.

There should be no cutting or overwriting.

Enter ‘X’ in the box for an unattempted question.

A correct Answer for each question carries 0.75 marks. There is no negative marking.

At the end of examination, return the Answer Sheet to the Invigilator.

Do not write on the Question Booklet. Use the additional page provided in the Question Booklet for rough
work.

After entering the Examination Hall a candidate will be allowed to leave the Hall after the paper is completed
and returned.

The duration of the examination is 65 minutes.

Use of calculator, cell phone or any electronic device is not allowed in the Examination Hall.

In case of any variation in English or Hindi version of question(s), English version will be taken as correct.
Use of unfair means will disqualify the candidate.
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(T) == (s) 3mER
(d) =1 (B1) we=
11. I prefer blue pen black pen.
(A) from (B) than
(C) to (D) at
12.  They are not as intelligent as :
(A) our (B) we
(C) us (D) their
13.  The feminine of the noun ‘Lord’ is:
(A) Lass (B) Lad
(C) Woman (D) Lady
14. How many vowels are there in ‘Outstanding’?
(A) 4 (B) 6
© 5 (D) 3
15.  This apron has no pocket to &
(A) put thing (B) putti @
(C) put things in 0 b.e ings put
16.  Choose the correct on€"
(A) The is the T (B) The Ganga is an holy river.
( i y river (D) A Ganga is a holy river.
17. e correct meaning of the word in italics. ‘She felt morose’.
( d ‘ . (B) Uncertain
(C) Anxious (D) Happy
18.  Choose the correct meaning of ‘Candid’.
(A) Impartial (B) Straightforward
(C) Honest (D) Just
19.  You promised to come, but you didn’t turn -
(A) up (B) out
(C) in (D) at

20.  What is the antonym of ‘Legal’?
(A) Unlegal (B) Illegal
(C) Inlegal (D) Dislegal



21.

23.

24.

25.

Volume of a cone of radius ‘r’ is equal to:

(A) 1/3nr?h (B) 2/3nr?h

(C) mrh (D) 4mr3

v fomat B 0 @ &1 smaen fefafaa § @ feas swew g
(@) 1/3nr?h (st) 2/3nr?h

(&) mr*h (€1) 4nr3

The amount of Rs.7500 at compound interest of 4% per annum for two years is:
(A) Rs.7800 (B) Rs.8100

(C) Rs.8112 (D) Rs.8082

7500 ¥. 1 Whdlg SAS &1 4 Wawm ® ¥ QA gul # fEaw gem wm?
(T) 7800%. (sf1) 8100%.

(1) 8112%. () s082%.

If 23% of ‘A’ is 46, then the value of ‘A’ is:

(A) 200 (B) 100

(C) 300 (D) 150

afs ‘u' &1 239favId 46 & @ ‘T H WA FAT EN?

(@ 200 (sf) 100

(&) 300 (Z1) 150

If three angles of a quadrilateral are 100°, 98° and 92° then the fourth angle is:
(A) 82° (B) 70°

(©) 110° (D) 60°

afs =qefd & @ w07 100°,98° R 92° @ W@ Wem ww fEaw FEW?
(T) 82° (&) 70°

(dt) 110° (1) 60°

The sum of the angles of a triangle is equal to:

(A) 180° (B) 360°

(C) 270° (D) 90°

faqst & ®on w1 Wg fRa e @2

(T) 180° (=) 360°

(&) 270° (€1) 90°
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1 ne product o1 -4x and 7xy polynomials is:

(A) 28xy (B) '23?‘2);
(C) 28xy’ (D) -28xy

4x q91 Txy 9gURT &1 PEES fRa gm?

(T) 28xy (&) -28x%y
(&) 28xy’ (1) -28xy’

If Sin A= 3/5then value of Cos A will be:

(A) 4/5 (B) 3/5
(C) 3/4 (D) 12
af& Sin A=3/58 @ Cos A foaan gmm?
(T) 4/5 (&) 3/5
() 374 @) 12
If ‘[J):_—ﬁ = z—: then value of x is equal to:
(A) 108 (B) 4800
(€) 2916 (D) 324
VX 54
VAT A x w1 AR fEaw @m?
(T) 108 (af) 4800
(dt) 2916 (B1) 324

A steel wire is in the form of a square. The same wire is bent in the form of a circle. What
will be the area of the circle if the side of square is 7 units?

(A) 2w square units (B) 4m square units

(C) m square units (D) m/2 square units

Th T F AR W FMER T F ¥ H AX g7 FT oMER fow W £ oar 2w
I H &ABA FAT BN, AR a0 B ST o7 owEE 22

(T) 2nent wrw () 4net W
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If the least prime factor of ‘a’ is 3 and the least prime factor of ‘b’ is 7 then the least
prime factor of (a+b) is : - | - B

(A 2 (B) 3

©) 7 _ o (D) 10
IR @’ F TEY BE AU OHETS 3§ AR D’ & gAY BRI SNy
THEYE 7 ® Wl (atb) H VST TOMEUE FAT BITI?

@2 (&) 3
S () 7 S () 10
Find the next letter in : bedbeebefbeg
(A) b (B) ¢
O h _ s . D) i
bedbeebefbeg W STTRTT &R FET BRT?
(@b &) ¢
(%) h - &)i
If BORE = ERBO, what is SPAR?
(A) RAPS (B) APSR
(C) PSAR (D) RASP
- gf& BORE = ERBO, @ SPAR F41 @II?
(W RAPS (st) APSR
(<) PSAR () RASP
Find the missing number (?):
9 |5 |8
5 |7 |2
3 |4 |5
1357 140 | 160
(A)4 . ®B)S
<€ 3 D) 6
' T W BR W S B
9 |5 |8
5 |17 |2
3 |4 |5
135 | 140 | 160 |
(T) 4 (ah)5

(%13 (N6
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Find the next letter in : bncdnefgnhijk

(A) k B) j
(C) m (D) n
bncdnefgnhijk ¥ 3TTem HER FAT B2

(W k (3)
(d) m (1) n

A cube is painted from all sides. It is cut into 64 cubes of equal size. How many of these

smaller cubes are unpainted?
(A)2 (B) 4
©) 8 (D)6

R Wt WE W T W VA (FYF) B 64 SR fewml F wer ww o z@w e
T & feay =@ (Fg9) 02

(W) 2 (s) 4

(%) 8 (1) 6

4

9 ?
A) 1 e (B) 9
" W HH G 3FF B

Find the missing value (?) ®
9 32 32 17 3}

49 32 32 17 16 9
9 7 ?

(@ 1 (a) 9

(#) 7 () 5

If + means x, + means + and — means +~ then solve 2+3-3 =5.

(A) 9 (B) 8

<€ 7 (D) 6

T +% TWH Wx,+ $ WH W +IN-F W™WH W= A2+3-3+5H g F
(@ 9 (s) 8

(+f) 7 (3N 6
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A is 3 years older than B and 3 years younger to C, while B and D are twins. How many

years older is C than D?
(A) 3 (B) 6
©) 2 (D) 12

I U, N Y 3 WA G § SR H ¥ 3 W BT € qun & IR € gl ?
@ @, & ¥ fEaw w=r Em? |

(@ 3 (s) 6

(%) 2 @) 12

In a row of trees, one tree is fifth from either end of the row. How many trees are there in
the row?

(A) 11 (B) 10

<€) 9 (D) 8

Iz TF fFd ¥ FE YT HS SH SR § ulEd TH W ® o1 3§ dfrd ®

fFea T 2

(@ 11 (s) 10
(#) 9 () 8
Solve, 3+3x3.

(A) 18 (B) 12
<€) 9 (D)6
3+3x3 I A W _

(W) 18 (sf1) 12
(<) 9 () 6
pH of a base is:

(A) 7 (B) <7
(©€) >7 D) =
&R & pH feadt Tt 22

(@ 7 (s) <7
(dt) >7 () =7
In human eye, image is found at:

(A) Pupil (B) Iris
(C) Cornea (D) Retina
HHE W W g% w1 Wafag wel e 87

(T) gaet ™ (sit) wfarferr @

) v Hew W (1) 3fegea
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Vegetable oils are converted to vegetable ghee by the process of hydrogenation. It is :
(B) substitution reaction

(A) addition reaction
(D) oxidation reaction

(C) decomposition reaction
E@Eﬁmmwﬁﬂaﬁmtﬁﬁwmmaﬁaﬁm%?
(v) wewer e (&) wfoeara srffsean

(&) ergereq  sAfafsean (B1) Swema sffem

If a hydrocarbon has triple bond it is :

(A) Alkene (B) Alkyne

(C) Alkane (D) All of the above
o frd TeSEER ¥ fy-amew ? A W ¥ wEd 27
(@ = (d) T

(W) T (F1) S| @ @t

Which of the following is liquid at room temperature?
(B) Bromine

(A) Chlorine

(C) lodine (D) Fluorine

frafafas & § S O GHAE 99 W O EF § 9E W@ €7
(W) wFrE (a) =

() smEE (@) v

Green plants are:

(A) Autotrophs

(C) Saprophytes

2 9 o # fawm #
() wdd & (sfr) wge @

() washet 2 (F) wehet #

(B) Heterotrophs
(D) Parasites

Bowman’s capsule is found in:

(A) Small intestine (B) Kidney

(C) Heart (D) Brain

ae dqe frefafas & & fred s @2

(T) B e7a () gF=
(3t) afa=

(@ %=
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49.
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5.

The image formed by convex mirror is:
(A) Real, inverted and small (B) Virtual, inverted and small
(C) Virtual, erect and small (D) Virtual, erect and large

I <YV BRI SR w1 fafes

(v) awafasw, ST 9 BRI BT © () e, Se@r 9 BRI FA ©
() s, @ 9 B T ® (&) v, @ @ @ T @
Unit of electric resistance is : ,

(A) Ampere (B) Volt

(C) Watt (D) Ohm

faoret wfady =1 =19 ¢

(v) T # () @z 2

() = 2 (F) siem ?

What type of mirror is used in vehicles for rear view?

(A) Concave mirror (B) Plane mirror

(C) Convex mirror (D) None of these

A A § 69 @1 3¥9 Y@ fF faw wA W e W@ s g 2
(T) srEad <Y (&) wHaw <O

(dft) @@ gHo (F) ¥ ¥ #FE T
Areawise smallest state in India is?

(A) Punjab (B) Tripura

(C) Kerala (D) None of these

§IFE H YRAEY ®1 gEY SRl U

(7) dom= ? (df) g @

(dft) @@ 2 (&) ¥ ¥ HE @

Mr. Kuldeep Nayar is associated with:

(A) singing (B) atomic research

(C) acting (D) journalism

Rt FEEly TR w T

(@) T ¥ # (df) oo ergHe™ d @

) sfa d @ () wIEr ¥ 2
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a7,

In which district of HP, Chander tal is located :

(A) Kinnaur (B) Shimla

(C) Lahaul & Spiti (D) Kangra

Tzae feume v & Ry fyer § fem R

() fr=iR (sft) fermen

(&) meta-feafa (E) =TT
America was discovered by :

(A) Columbus (B) Vasco da Gama
(C) Alexander (D) None of these
sifE # @ fFEy #5102 |
(W) wrer=E  (a) AT =T T
(&) fam==t A (&) ™ | *E T

Who is the present Secretary General of Umted Natlons I ion?
(A) Barack Obama

(C) Nelson Mandela
HgFT Tg W %
(T) @R qH WA

?:r)saﬁﬁm‘rhﬁ

rest Minister of Himachal Pradesh?

(A) Sh. Virbhadra Singh (B) Sh. Kaul Singh Thakur

(C) Sh. Sudhir Sharma (D) Sh. Thakur Singh Bharmouri
femrae W ® aF Hel @ R 2

() st vz foe () st e fdg sER

(T) &t gefr vl (&) it oy fdg v
‘Operation flood’ is related to :

(A) Flood control (B) Milk production

(C) Water harvesting (D) All of these

‘i W' w1 ey frefatad W ¥ e R

(w) =g fra=m (s) T SeEA

(&) @ "@ue (21) SWreFa |t



“Van Mahotsav’ was started by :
(A) Dr. RV Singh

(C) Dr. KM Munshi

‘g7 werema' fFem e fean 2
(@) 1. sm @ fiE () =1 aF T T
() =1 & T gl () T ¥ FE Tl

(B) Dr. YS Parmar
(D) None of these

Characteristic smell of Liquid Petroleum Gas is due to :
(A) Carbon dioxide (B) Chloro-flouro ethane

(C) Mercaptoethanol (D) Acetone
@ g § favw Ty e RO e 82
(W) wrEFSEIAFAES () FEAR-TAR 3

() AR () A

Highest cricket ground is situated at: .
(B) Narkanda

(A) Dharmshala

(C) Dalhousie (D) Chail
Ty w1 fFde e wel feud @2

(T) erfeTEn (s) RS
(d) sorRrst () =
Which type of acid is found in Ant sting?

(A) Methanoic (B) Acetic
(C) Lactic (D) Tartaric
HH # TF T PN W ASE G W@ 22

(T) HAIAREE (at) uHifes
() NIETED (1) TRAF
Which of the following is renewable resource?

(A) Petroleum (B) Coal

(C) Natural Gas (D) Forest
frefefas § ¥ F9 @ TEE0OTE WG R2

(w) Heiferam (sft) e

&) wrefas (F) =



63.  ‘Earth Day’ is celebrated on :

(A) 22 April (B) 22 May
(C) 22 September ' (D) 22 February
‘geat feag' feg 7w s @2
(@) 22 o= () 22 wE
(¥) 22 faamr (F) 22%tEd
64.  The toxic gas responsible for Bhopal gas'tragedy is:
(A) Carbon monoxide (B) Nitrous oxide
(C) Sulphur isocyanide (D) Methyl isocyanide
o T wEd % fog e @ e Swert o
(W) w1 AFRTFEEE (&) TEgw sAfFEEs
() HewT IAEHEEAES (&) faumer smEmEARES
65. A book titled ‘Nature watch’ is written by:
(A) Khushwant Singh (B) Satyajit Ray -
(C) Salman Rushdee (D) Jaswant Singh
e e A feae e fet @2
(v) gy fEe (&) Teamsia 3
(%) wemE WS () wwa= fde
66.  Wild life symbol of WWF is :
(A) Tiger (B) Pigeon
(C) Red Panda (D) Elephant
g Sfed § WWF &1 W Fa1 @2
(W) ¥R (a) FgT
(dt) «mer wroet (€1) =t
67.  Ozone layer is present in:
(A) Mesosphere (B) Stratosphere
(C) Ionosphere (D) Troposphere
Aee T fFreafafes & ¥ fFg & o St ® 2
(v) fasrafeae (dt) wRrEfmEm

(&) smEEfEa (1) ITamEfEE
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State bird of Himachal Pradesh is :

(A) Peacock (B) Monal
(C) Sparrow (D) Jujurana
feqreer WY1 F1 o9 vt HE 22

(@ =R (sfr) w
(w) fafean () I

The water reservoir of which dam in HP is famous for migratory birds?
(A) Kol dam (B) Bhakhra dam

(C) Pong dam (D) None of these

FH ¥ &y F1 9@ Yver var wRwE % faw wfas ?7

(W) we (&) wrEer =g
(F) din aTy (&) S ¥ ¥ FE T
The place where animals are protected in their natural habitat is called as:
(A) Sanctuary (B) Zoo

(D) All of these

(C) Biosphere reserve
g8 WE SRl W WFEd # e Wi A W afEa R s 2, F

FeaTdl 22
(T) 3rvarmE (sf) fafemr =R

(dt) Siremuee Wad o™ (@) swFa |

How much seed is required to raised 2000 plant of khair if its germination is 80% and

number of seeds per 10gm is 25?
(A) 10kg (B) 1kg
(C) 20kg (D) 2kg

B F 2000 WY I ® fou feaw stw wifew afz de s g0 wfavE @
s 10m. ¥ 25 S W EN?

(W) 10fF. () 1fs.
(d) 20fF. (@) 2fF.
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Which one of the following is an ever green tree?

(A) Deodar (B) Darek

(C) Shisham (D) Semal

frafafas & § FH W g8 TEEER @2

(W) =R (@) ==

(dT) e (&) foame

Which one of the following is not a forest product?

(A) Gum (B) Resin
(D) Plywood

(C) Kerosene

frafafas & 9 $19 ®@ 99 @ T @2
(v) =" (at) farsm

(df) fagt =1 @ (1) =mge

Which of the following trees gives best fodder ?

(A) Mulberry (Morus) (B) Beul (Grewia)
(C) Khirak (Celtis) (D) Kachnar (Bauhinia)

frafafas & ¥ SH W g8 GEY =1 AR AT 22

(®) ¥ () ==t
(dt) fas= (BY) F=R
Resin is extracted from:
(A) Deodar (B) Chir
(C) Mango (D) Khair
frafafes %,9 9 9 ga ¥ fausn feen s 22
(T) ¥E=w (31) =g
(¥f1) o™ () &
What was the main aim of ‘Chipko Movement’?
(A) Human rights (B) Political rights
(C) Agriculture Protection (D) Forest Protection

‘U T=IeE’ ® O w@em FA 91?
(W) =& SR (a) T st

(#) @t w1 == (&) & w1 =



How many chir pine seedlings will be required for planting one hectare at 8x5m spacing?

(A) 25000 (B) 2500
(C) 250 (D) 25

w R § 8xSHME T W Wiw w1 dheRmw & fau feer dt w1 srEvEsar
qrt?

(T) 25000 (sit) 2500

(4T) 250 () 25

Which of the following trees yield wild fruits?

(A) Kaphal (B) Rubus

(C) Fig (D) All of these
frafafas & ¥ $1H Y Well el Y9H HW 77

(W) wrHet () w=E

() @t (S) SutmFa @t
Micro-organisms act upon the dead plant parts to produce:

(A) Mushroom (B) Gum

(C) Humus (D) Sand

e Ste g ot & fewdl W oWRRm F @ s 27
(@ T= (s) i

(dfT) =g @) @

Names of endangered plant species are published in:

(A) Green data book (B) Red data book

(C) Plant data book (D) Species data book
e de W oyl w1 AW e feae #§ el g @2
(v) &0 = foham (%) e s fohame
(@) dten e fHaE (1) wonfa erer fwame



